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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Some vegetarians are not just indifferent to meat; they have a/an --- toward it.

1) immorality 2) tendency 3) antipathy 4) commitment

A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --—-----—-- in some people about the benefits of technology.

1) ambivalence 2) distinction 3) encouragement  4) compromise

My niece has a -------—--—- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless

The singer's mellifluous voice kept the audience --—--—-—-- for two hours.

1) disputed 2) disregarded 3) frustrated 4) enchanted

His family, relatives, and friends still cling to the hope that Jeff will someday
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

Logan has been working long hours, but that is no excuse for him to be ------- to
customers.

1) ingenious 2) intimate 3) discourteous 4) redundant
Although he was found ------------, he continued to assert that he was innocent and had
been falsely indicted.

1) critical 2) guilty 3) problematic 4) gloomy

The old sailor's skin had become wrinkled and --
sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

The promoters conducted a survey to study the -----—---— of the project before investing
their money in it.

1) impression 2) visibility 3) feasibility 4) preparation

--- from years of being out in the
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10- That is 100 —=—veeeeen an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ====aeaaee-
spatial reasoning. and the results were published in Narure. They gave research
participants one of three standard tests of abstract spatial reasoning (12) -—--eeee- ---
cach of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart. verbal relaxation instructions, and (13) ====eeeeeeee . They found a temporary
enhancement of spatial-reasoning, (14) —=—me-eeme -- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) -- -- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on
12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience
13- 1)silence 2) was silent 3) there was silent  4) of silence
14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Beta-agonists are naturally occurring and synthetic organic compounds that share a
common chemical structure of compounds classified as phenethanolamines. Several B-
agonists are used therapeutically in human and animal medicine for specific effects on
smooth muscle, whereas others were investigated originally as possible antiobesity
agents. Advances in understanding the regulation of nutrient use in agricultural
animals have led to the development of technologies referred to as metabolic
modifiers. B-agonists act as metabolic modifiers with ability to repartition use of
consumed nutrients toward increased skeletal muscle growth and decreased adipose
tissue accumulation in growing cattle. swine, broilers, and turkeys. So they have the
overall effect of improving productive efficiency i.e. weight gain or milk yield per
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feed unit, improving carcass composition in growing animals, increasing milk yield in
lactating animals. and decreasing animal waste per production unit.

Beta-agonists are orally active and efficacious at 5-30 parts per million (ppm) of
feed when fed for short periods of time (28-42 4) near the end of the finishing period.
B-agonists act directly through B-adrenergic receptors on skeletal muscle and adipose
cell membranes and generate signals that control metabolic activities in the cells. The
rate of fat accumulation or growth in the animal slows, resulting in a leaner animal.
The magnitude of these changes is influenced by the dose amount and the length of
time the B-agonist is taken, the type of B-agonist, and the target animal. B-adrenergic
agonists represent a class of compounds called phenethanolamines. and individual
compounds differ in their biological effect. The ones that affect animal growth are
often referred to as repartitioning agents.

According to the text, which statement does not match B-agonist specifications?

1) They can induce increased skeletal muscle and decreased adipose tissue.

2) They possess special receptors on muscular and adipose cell membranes.

3) They are prescribed for prevention of obesity in animals.

4) They are active by consumption as oral administration.

Which efficacy could be related to B-agonists as metabolic modifiers in animals?

1) Developing the digestive system 2) Being involved in the defensive system
3) Having a reproductive role 4) Improving productive efficiency

All of the following are considered as the mechanism of B-agonists EXCEPT

1) They act directly through B-adrenergic receptors

2) They increase animal waste

3) They control metabolic activities

4) They are active through oral rout

Which factor has no effect on the magnitude of changes induced by B-agonists?
1) The amount and type of this medicine

2) The duration of its consumption

3) The rout or method of administration

4) The species that has taken this compound

Which of the following compounds are NOT included in the class of B-adrenergic
agonists?

1) Repartitioning agents

2) All of Phenethanolamines

3) Some compounds with different biological effects

4) Compounds that prevent animal growth

PASSAGE 2:

A variety of carbon compounds such as ketones and fatty acids could be used as
energy though carbohydrates play an important role in this way. First of all.
maintaining a regular intake of carbohydrates will prevent protein from being used as
an energy source. Gluconeogenesis will slow down and amino acids will be freed for
the biosyntheses of enzymes, antibodies, receptors and other important proteins.
Furthermore, an adequate amount of carbohydrates will prevent the degradation of
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skeletal muscle and other tissues such as the heart, liver, and Kidneys. Although the
central nervous system will adapt to using ketones as a fuel. it preferentially uses
carbohydrates and requires a minimum level of glucose circulating in the blood in
order to function properly. Although the processes of protein degradation and ketosis
can create problems of their own during prolonged fasting, they are adaptive
mechanisms during glucose shortages. In summary, the first priority of metabolism
during a prolonged fast is to provide enough glucose for the brain and other organs
that dependent upon it for energy in order to spare proteins for other cellular functions.
The next priority of the body is to shift the use of fuel from glucose to fatty acids and
ketone bodies. From then on, ketones become more and more important as a source of
fuel while fatty acids and glucose become less important.

Which statement is not related to using carbohydrates as a source of energy?

1) Proteins would be analyzed to free amino acids.

2) They cause inhibition of utilizing proteins for energy production.

3) New synthesis of glucose decreases.

4) Amino acids would be used for production of other proteins.

Consumption of carbohydrates will benefit all the following organ systems EXCEPT

1) C.N.S 2) Muscular system 3) Respiratory system 4) Urinary system

Which of the following nutritional compounds does the brain prefer to use?.
1) Ketone bodies 2) Amino acids or proteins
3) Fatty acids 4) Carbohydrates

Which of the follwoing shows the proper sequential priorities of the body during a
prolonged fast?

1) Ketone bodies. fatty acids. and glucose 2) Glucose. fatty acids. and ketone bodies
3) Glucose, ketone bodies, and fatty acids 4) Fatty acids, glucose. and ketone bodies
What would be the best title for the passage?

1) Fatty acids and lipids 2) Ketones and ketone bodies
3) Importance of carbohydrates 4) Proteins and amino acids
PASSAGE 3:

Synthetic Amorphous Silica (SAS), in the form of pyrogenic (fumed). precipitated,
colloidal or gel SAS, has been used in a wide variety of industrial and consumer
applications including food, cosmetics and pharmaceutical products for many decades.
Based on extensive physico-chemical, toxicology and epidemiology data. no
environmental or health risks have been associated with these materials. With internal
structures in the nanoscale size range, pyrogenic. precipitated and gel SAS are typical
examples of nanostructured materials as recently defined by the International
Organization for Standardization (ISO).

The manufacturing process of these SAS materials leads to aggregates of bonded or
fused primary particles. Weak interaction forces including van der Waals interactions,
hydrogen bonding, physical adhesion, between aggregates lead to the formation of
micrometre (um)-sized agglomerates. Colloidal SAS dispersions may contain isolated
primary particles in the nano-size range which can be considered nano-objects. The
size of the primary particle resulted in the materials often being considered as
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“nanosilica”. The biological activity of SAS can be related to the particle shape and
surface characteristics interfacing with the biological milieu rather than to particle size.
Synthetic amorphous silica adsorbs to cellular surfaces and can affect membrane
structures and integrity. Toxicity is linked to mechanisms of interactions with outer
and inner cell membranes, signaling responses. and vesicle trafficking pathways.
Interaction with membranes may induce the release of endosomal substances, reactive
oxygen species, cytokines and chemokines and thus induce inflammatory responses.

According to the first paragraph, all statements about SAS are correct EXCEPT ---—----,
1) there are enough data about its safety for health and environment

2) it is widely used in foods and different medications
3) it has three different applicable forms

4) Organization for Standardization has disapproved its usage

Which interaction is not included between aggregates of SAS materials?

1) Chemomolecular bonding 2) Physical adhesion

3) Hydrogen bonding 4) van der Waals interactions
Which of the following features has no effect on the biological activity of SAS?
1) Surface characteristics 2) Shape of the particles

3) Size of the particles 4) The form or structure
Adsorption of SAS to the cells is done by which of the following cell structures?
1) Nuclear surfaces 2) Surfaces of the cells

3) Internal organelles 4) Inside the cytoplasm
Inflammation due to interactions with membranes could result in the release of all the
following items EXCEPT -—-—-—-— -—

1) endosomal substances 2) signaling responses

3) reactive oxygen species 4) cytokines and chemokines
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